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PR m | mwm | m | uom| as | SO | BE | AR
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1 |dbiEE 6.6E+3 6,619.6
2 |EHE 1.8E+3 1,830.7
3 |BFR 3.8E+3 3,768.5
4 |EHER 1.9E+3 1,903.5
5 [FEE 1.1E+3 1,077.9
6 (LB 2.3E+2 228.2
7 |©EBE 2.1E+3 2,095.2
8 |ZHE 1.0E+4 10,497.0
9 [HAE 5.2E+3 5,230.5
10 |BERE 5.9E+3 5.878.4
11 ||J/ER 2.9E+3 2,949.5
12 |FERE 7.8E+0 4.9E+3 4,882.7
13 |REE 8.0E+2 800.0
IR RIS 2.7E+0 1.6E+3 1,619.5
15 |#iRE 2.7E+3 2,663.6
16 [ELE 9.5E+2 946.6
17 |BINE 4.6E+2 462.2
18 [fBHE 1.2E+3 1,244.6
19 [LLEIE 8.9E+2 894.0
20 |[RHE 1.5E+3 1,496.0
21 [IFRR 1.9E+3 1,907.5
22 |BEE 3.5E+2 1.9E+3 2,200.7
23 |EmE 2.0E+1 5.2E+3 5,224.6
24 |=ZER 1.9E+3 1,893.8
25 [HER 1.3E+3 1,301.1
26 |TRERAT 3.0E+2 2985
27 | KB AF 1.7E+3 1,7175
28 |[EER 3.1E+3 3,104.8
29 |ZRR 5.3E+2 528.3
30 [F0FRLIE 1.4E+2 2.5E+2 389.0
31 |BRE 3.0E+2 296.0
32 |BRE 8.6E+3 8,623.5
33 |EWE 1.9E+3 1,921.4
34 [LBR 3.2E+1 1.3E+3 1,309.0
35 [lwOg 2.2E+1 3.3E+2 3493
36 [EER 1.3E+2 133.8
37 |FBIIR 3.7E+1 5.7E+2 609.5
38 |EBER 1.5E+0 1.1E+3 1,103.7
39 [EHIR 2.6E+1 255
40 [EEE 1.2E+1 2.6E+3 2,618.4
M |[EER 1.1E+2 113.8
42 |RIGE 2.8E+1 28.0
43 |FEXRE 1.5E+2 3.0E+2 448.0
44 | KHE 6.8E+1 68.0
45 |=iHE 2.6E+2 258.0
46 |EEBE 2.4E+2 2385
47 |HiBR 5.2E+2 6.4E+2 1,162.0
ESE 1.3E+3 9.4E+4 94,959.8
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